Fi2-1

FES0T0) 1098 2 dk A R AL EMAE AR~ Do R
iz '

1002 F &+ e+ F g

S R R

. TR
§ 0 kfla
F P ioRFRLARE
TIRER 2 B
MLR OV URF IR E
UFHEE 0 (FE R il F o 3t A2 1 y AR 2l o
(é)jwjﬁ;{g A o R AR ;}iifj B A

O3 § w4 (Reynold’s number) % #g4# #c (Froude’s number ) 2. % % >
Hat k@2 €252 (10 4)

O sz 1 (Inverted siphon) £ %4 (Chute) 7 € & B A28 - 3
WM IR B EARFRALLLEAL P2 (154)

SRR OB Bk R Ek SRR LA - (10 4) £
pa_fﬂ#%%igl_’a—'@#ﬁ N 2 - o (15 4)

sl B (Archdam) B defe b2 (10 4 ) ¥ iR - 2 e
R 0§ 0=133°34 BT RS HE S R o (15 4)

X




% 5 : 30730
F=x :2-2

FPRERE RGO AR L RNSERT R KRB K L
TARRE 2. A AT F e T AT o BAARA T ETLL B0 # ’I#ﬁ"« B o
*&_’&«fljjﬁ, 500 > P?—“X AL E (B/C) ‘/it/{.f—élz": (B_C> ‘t/{-‘l—’-i‘aét

Fer R kH e F (AB/AC) #4172 5 E> % » (164 ) F WP § wonet
sk o (104) (° &F AwfcF3 c:RFz(li(ji;)ni)_njL
N Bk |E@EHSA| £

” (10°=~) | (10°=~) | (10°=~)

1 1,000 30 100

2 1,400 70 170

3 1,500 75 180

4 1,600 90 230

5 2,200 100 280




